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ENGLISH VERSION

Instructions : (1) Write answer of the entire question in Main

answer sheet.

(2) Figures in the Right Side Indicates Marks

1 Answer any one question : 14
(1) Explain nature and scope of labour economics.
(2) Discuss in detail the Labour Problems in India
(3) Evaluate the Labour Policy of India
2 (a) Answer any one question of the following : 10
(1) Explain the characteristics of labour market.
(2) Discuss the factors affected to demand and supply
of labour
(b) Answer any one question of the following : 10

(1) Discuss marginal productivity theory of wage.

(2) Explain the collective bargaining theory of wage
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3 (a) Answer any two question of the following : 10
(1) Discuss the causes of Migration.

(2) Write note on the relationship between inflation
and wage.

(3) Describe the process of migration.

(4) Discuss the causes of wage differentiations

(b) Answer any two question of the following : 10
(1) Explain the Concept of Migration and Mobility
(2) Minimum wage and Fair wage
(3) Dearness Allounce

(4) Explain the concept of mobility. How it is different
from Migration ?

4 Answer the following in one or two lines : 6
(1) What is meaning of living wage ?
(2) Give name of wage components.
(3) Explain the concept of labour market
(4) What is called real wage ?
(5) What is the meaning of Occupational Mobility ?

(6) According to constitution of India how much wages
should be obtain by the labours ?

5 Choose the right Answer from objective given below : 10
(Any Ten)

(1) How many times, in a year Central Government increases
in dearness allowances of its employees ?

(A) One
(B) Three
(C) Two

(D) In religious festivals only
(2) Which wages are more important for labours ?
(A) Real Wage
(B) Money Wage
(C) Monthly Wage
(D) Indirect Wage
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Which from the following is International Labour Day ?
(A) 218t June (B) 15t May
(C)  6th December (D) 5th March

Which from the following is not characteristics of Indian
labour market ?

(A) Migration
(B) Low Level of Literacy
(Cy High Rate of absenteeism and labour turnover

(D) High degree of unionization

Collective Bargaining is a ............. Process.
(A) Government (B) Personal
(C)  Group (D) None of these

Which characteristic of a perfect competition is not
found in labour market ?

(A) Large Numbers of Buyers and Sellers
(B) Equal Price

(©) Equal Quality

(D) None of these

Prices are increases and Monetary Wages is remaining
stable which changes in Real wage?

(A) Increases (B) Decreases

(C) Remain Stable (D) No effect

Which of the following is one of the important factor for
determination of Dearness Allowance?

(A) Wholesale Price Index

(B) Price Index

(C) Consumer Price Index for industrial Labour
(D) None of these

Labour have which kind of mobility?

(A) Geographical (B) Professional

(C) Both (D) None of these
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(10) H.R.A. is associated with ...............

(A) Transport (B) Medical
(C) House Rent (D) None of these
(11) Which wage differentiation is considered improper?
(A) Skilled (B) Gender
(C) Both (D) None

(12) Wages are given to labours for ..........
(A) Physical Services
(B) Mental Services
() (A) and (B) both
(D) None of these
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